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QUESTION 1

Which option is NOT a valid action within the Oracle Cloud Infrastructure (OCI) Block Volume service?
A. Clone an existing volume to a new, larger volume.

B. Restore from a volume backup to a larger volume.

C. Shrink an existing volume in place with offline resizing.

D. Expand an existing volume in place with offline resizing.

Correct Answer: C

QUESTION 2

Your application front end consists of several Oracle Cloud Infrastructure compute instances behind a public load
balancer. You have configured the load balancer to perform health checks on these instances. What will happen if an
instance fails to pass the configured health checks?

A. The instance is replaced automatically by the load balancer.

B. The instance is terminated automatically by the load balancer.

C. The instance is taken out of the back end set by the load balancer.

D. The load balancer stops sending traffic to that instance.

Correct Answer: D

One or more of the backend servers reports as unhealthy. A backend server might be unhealthy or the health check
might be misconfigured.

QUESTION 3

You have an Al/ML application running on Oracle Cloud Infrastructure. You identified that the application
needs GPU and at least 20Gbps Network throughput. The application is currently using a VM.Standard2.1
compute without any block storage attached to it.

Which two options allow you to get your required performance for your application? (Choose two.)

A. Terminate the compute instance preserving the boot volume. Create a new compute instance using the BM.GPU2.2
shape using the boot volume preserved, but no block volume attached.

B. Terminate the compute instance preserving the boot volume. Create a new compute instance using the
VM.Standard2.2 shape using the boot volume preserved, but no block volume attached.

C. Terminate the compute instance preserving the boot volume. Create a new compute instance using the VM.GPU3.4
shape using the boot volume preserved and use the NVMe devices to host your application.
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D. Terminate the compute instance preserving the boot volume. Create a new compute instance using the BM.HPC2.36
shape using the boot volume preserved and use the NVMe devices to host your application.

E. Terminate the compute instance preserving the boot volume. Create a new compute instance using the BM.GPU2.2
shape using the boot volume preserved and attach a new block volume to host your application.

Correct Answer: DE

QUESTION 4
Which two statements are true about data guard service on DB Systems in Oracle Cloud Infrastructure (OCI)?

A. Data guard implementation requires two DB Systems, one running the primary database on a virtual machine and the
standby database running on bare metal.

B. Data guard implementation requires two DB Systems, one containing the primary database and one containing the
standby database.

C. Data guard configuration on the OCI is limited to a virtual machine only.
D. Both DB Systems must use the same VCN, and port 1521 must be open.

Correct Answer: BD

QUESTION 5

Which two statements are true about restoring a volume from a block volume backup in Oracle Cloud Infrastructure
Block Volume service?

A. You can restore a volume from any full volume backup but not from an Incremental backup.

B. You can only restore a volume to the same availability domain in which the original block volume resides.
C. You can restore a block volume backup to a larger volume size.

D. You can restore a volume to any availability domain within the same region where the backup is stored.
E. You can restore only one volume from a manual block volume backup.

Correct Answer: CD

Reference https://docs.cloud.oracle.com/enus/iaas/Content/Block/Tasks/restoringavolumefromabackup.htm
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